SN AESAsYD
Al Xl 2
o

HH: AUABAWAND (SUHLLL /5 - 5E)
ol MEA=Y K4 (crelme)
2 5 4 14
A B (BH) - HRAY 0l &k o e SmEET
Z=gu 189,862,530 204,353,046 214,490,516
= 16,505,736
s 955,000
J| 135,917,070
= 36,484,724
AU ZAMAN D (sEHLSN /= - & 166,441,699 180,501,505 A 14,059,806
= 12,205,736
s 300,000
J| 135,917,070
& 18,018,893
HEdsdy |4 9,186,426 25,262,877 216,076,451
= 4,294,856
s 300,000
J| 1,201,180
= 3,390,390
E3sy M-It 3 661,930 680,290 A 18,360
202 044l 7,650 7,650 0
01 SO HI 7,650 7,650 0
OXBA=SY SHAR 7,650
308 AAIEHH SO A 72,000 72,000 0
01 HXESHBLEXS 72,000 72,000 0
OzEZUE=US 72,000
403 X SHH S0l & 582,280 600,640 A 18,360
01 HXESH 2L = 582,280 600,640 A 18,360
odadsgy sl 42,840
oz EdsatE It 539,440
=gy 245 A& 540,600 681,480 A 140,880
308 A EHSOIA 540,600 681,480 A 140,880
01 HXESHHBILEXS 540,600 681,480 A 140,880
OXEE sXHM 2= 297,000
oz adsetE o 126,000
OR=s<% s =X 117,600
ESMHSH NA(21) 4,336,986 4,702,685 A 365,699
= 3,707,456
< 629,530
308 AUXIEHSOIA 4,336,986 4,702,685 A 365,699
= 3,707,456
< 629,530
01 HXESHILAEXS 4,336,986 4,702,685 A 365,699
OE2LMHEH X& 4,336,986
= 3,707,456
& 629,530
Hed=sd XNFRAY(=12) 420,000 130,200 289,800
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SH: ABA=YY
HE: APNSAYBAND(SYHLSM/5Y - 55)
chel: HBAsY |4 (e @
o9l (3) - MM - BES Ol ko e 52
s 300,000
< 120,000
403 AXISHMSA=201A 420,000 130,200 289,800
s 300,000
< 120,000
01 HXIEHA2E = 420,000 130,200 289,800
orEd=d N7 H 420,000
= 300,000
= 120,000
ed=sga=(=21) 1,201,180 ,201,180 0
J| 1,201,180
308 AUXIEHSOIA 1,201,180 ,201,180 0
J| 1,201,180
01 HXESHBILAEXS 1,201,180 ,201,180 0
odadsgy HAZI=H 1,201,180
J| 1,201,180
SIN=sLIM NA(=2) 446,230 296,042 150, 188
= 312,400
& 133,830
307 @I2t0l & 15,000 0 15,000
= 15,000
02 QIZtE & AIHE = 15,000 0 15,000
OELZdE 2248 XA 15,000
= 15,000
308 XX ©HH SOl A 431,230 296,042 135,188
= 297,400
= 133,830
01 HXESHILAEXS 431,230 296,042 135,188
ORI =sLXM K& 431,230
= 297,400
& 133,830
sgetdeEdEzZ O (=0) 357,500 195,000 162,500
= 275,000
= 82,500
308 UXIEHSOIA 357,500 195,000 162,500
= 275,000
= 82,500
O1 IXSHBHEXS 357,500 195,000 162,500
OsgazdedaEz I 357,500
= 275,000
< 82,500
JIZHIE X (HEA) 1,222,000 0 1,222,000
308 XXM SO0l & 1,222,000 0 1,222,000
0l RSHMBAHRES 1,222,000 0 1,222,000
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SA: HEBE s
M MANSAMAR D (SYHLM/5Y - 5&)
ool Aedsy |4 (es @
SN ZH S (3A) - NREAY - By 01 & b HREZ
| | FEFIEEIEREIEE) 1,222,000
Warel AW A3t 138,675,400 140, 383,664 A1,708,264
= 1,857,000
ol 134,492,870
3 2,325,530
DEEM A 2,258,030 2,028,110 229,920
202 014 4,980 4,980 0
01 =01 bl 4,980 4,980 0
osae A2 =X 4,980
307 QI2+0I & 62,000 50,000 12,000
02 AN EE 12,000 0 12,000
O MH=0H3l 12,000
04 BI2LEHAFALS B X 50,000 50,000 0
oM =2 OHEY N 50,000
308 X+ XI EHH S0l & 1,294,580 1,200,980 93,600
01 MHXSHB&EES 1,294,580 1,200,980 93,600
OGS X& 779,980
oA AHIET X 153,000
OLAY HPAHM XY X 270,000
o*84 A& N 66,600
OSEMAYN FEX N 25,000
403 XIS S X201 & 896,470 772,150 124,320
01 REXISHA Rt 8 & 896,470 772,150 124,320
oW S8 AN&FH X 204,850
ORHAL ZSAHZXI| N 45,000
OMXIME L JtBIIEr 2= 633,120
O EIXZ2 MUK 13,500
HEgZ L (NAH) N (D) (HY) 40,000 41,000 1,000
= 40,000
201 Yt A 19,000 19,400 2400
= 19,000
01 AtR 2+l 19,000 19,400 A400
ogFYR =& 19,000
= 19,000
202 014 21,000 21,600 2600
= 21,000
01 240t 21,000 21,600 2600
ogzzel FA 21,000
= 21,000
U2 (NLH) N (2D) 1,586,000 1,511,498 74,502
= 1,586,000
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SH: ABA=YY
HE: AYTSABAR D (STHYL /52 - 52)
Chel: Al HM A3 EEREE
A - FE G (BH) - HRAY - S Ofl b b RS2
308 MM SO A 1,586,000 1,511,498 74,502
= 1,586,000
01 HXEHHILEXS 1,586,000 1,511,498 74,502
oOFRL=22|dl (XIXA) X 1,586,000
= 1,586,000
MRS ZSZIM 24(32) 17,700 0 17,700
= 15,000
< 2,700
308 AUXIEHSOIA 17,700 0 17,700
= 15,000
< 2,700
01 HXESHILAEEXS 17,700 0 17,700
oMBRE BEAAM |A 17,700
= 15,000
& 2,700
RPC XA HES(=1) 280,800 793,000 A 512,200
= 216,000
= 64,800
403 XSS K201 H 280,800 793,000 A 512,200
= 216,000
= 64,800
01 XXX A2 = 280,800 793,000 A 512,200
ORPC H&AIE IHE 280,800
= 216,000
= 64,800
SUNEZ HAFXNA(S1) 582,000 582,000 0
J| 582,000
202 (4l 9,000 9,000 0
J| 9,000
01 =LA BI 9,000 9,000 0
OZAXEM MHFA 9,000
J| 9,000
308 AUXIEHSOIA 573,000 573,000 0
J| 573,000
01 HXESHBILAEXS 573,000 573,000 0
OSAA=EHMN &#EH X 573,000
J| 573,000
TS EAAAH XA (2D) 48,870 48,870 0
J| 48,870
308 XXl &M S0l & 48,870 48,870 0
Il 48,870
01 HXHHBLEXS 48,870 48,870 0
OZ2dXNEZT ELZAMH XA 48,870
J| 48,870
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SN HEsD

HE: AYTSABAR D (STHYL /52 - 52)

Chel: Al HM A3 EEREE
SN BB S (SA) - MM - BES Ofl b b RS2
SARNEZ(=2) 133,862,000 133,033,000 829,000

J| 133,862,000
308 XFXIEHHI SOl & 133,862,000 133,033,000 829,000
J| 133,862,000
01 AXEHBAEELS 133,862,000 133,033,000 829,000
OJled SLA=H 133,862,000
J| 133,862,000
2AZ MADIEH = H 4,277,343 3,185,584 1,091,759
= 44,830
J| 223,020
= 4,009,443
FIA OIS &&= 384 ML 1,187,982 676,520 511,462
202 (4l 3,060 3,060 0
01 =LA BI 3,060 3,060 0
OFTALHE 2£&2 28 =4 3,060
308 AUXIEHSOIA 1,109,922 673,460 436,462
01 HXESHBILEXS 1,109,922 673,460 436,462
OLJALX =LA HE Ao 68,922
ondXNz B3 XA 10,500
OZXZAEHE HE3 X3 250,000
OZRAIN HEZ =4 36,750
oOlgsge sl XA 393,750
od=dld HTIEE XN& 350,000
403 XM S0l & 75,000 0 75,000
01 XA A2E = 75,000 0 75,000
O Xt HACCP AlE XI& 75,000
NZX HEHX =4 X 50,820 44,400 6,420
403 X SHH S0l & 50,820 44,400 6,420
01 "XEHA2E = 50,820 44,400 6,420
OMNZX MHEHX =4 XA 33,600
OMZ X THEEX M3 XA 17,220
ZEE 29335 150,300 105,300 45,000
308 XIS SO0l & 15,000 24,000 29,000
01 AXEHBAEES 15,000 24,000 A 9,000
oOZd&ET= 22 0HAHE XA 15,000
403 XSS K201 H 135,300 81,300 54,000
01 "XNEXMA2E = 135,300 81,300 54,000
O&T=4Y JlEt 24 135,300
SUMAHSR (NI ) 2,280,000 1,140,000 1,140,000
308 UXIEHSOIA 2,280,000 1,140,000 1,140,000
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SN ABBSAD
A AYNSABAND(SAHS+M/5 - 52)
el WRES MADIB X4 EER-E
2 5 4 14
SA YO () - NEAY - B Ofl &F 0 agi HRE2
01 AIXSHHMABAABEEXZ 2,280,000 1,140,000 1,140,000
OsgEMEE X 2,280,000
g=HXE2(21) 223,020 223,020 0
J| 223,020
308 XX EMSO0lI& 223,020 223,020 0
D] 223,020
01 AIXSHHMABAABEEXZ 223,020 223,020 0
OEsHEEM (=012 &) 223,020
J| 223,020
DI 2 = A MAN(THADNZEOHE ) (2IHAE 326,877 938,000 A611,123
X&)
307 2I2t0| & 326,877 938,000 AB611,123
02 DIZEAAMAIEE X 326,877 938,000 AB611,123
ODNHXN LI = HHMA(THAIFZEOHAT) 326,877
S OfMES THAIL NA(2D) 58,344 58,344 0
= 44,880
= 13,464
403 XX SHHS K201 58,344 58,344 0
= 44,880
== 13,464
01 MXISHA2E xR 58,344 58,344 0
OK0 OtMsS=E ZLEAAL XA 58,344
= 44,880
o 13,464
SsYI|AHS Y AS50HH 7,736,530 2,669,380 5,067,150
= 3,509,000
= 4,227,530
SI)H 82 - 2l 3,407,780 889,780 2,518,000
202 04| 4,980 4,980 0
01 2L A bl 4,980 4,980 0
SSI| A3 ¢ 4,980
308 XX EHMSO0IA 1,980,000 180,000 1,800,000
01 AIXSHHMBAAEEXZ 1,980,000 180,000 1,800,000
LI =sIIH = 180,000
SSHE HAR 1,800,000
403 XX S H S X20] 1,422,800 704,800 718,000
01 AIXSHMA=2E X 1,422,800 704,800 718,000
O=J|H A 451,500
OUHE=sIIAH = 176,175
OgXE Mg =) 180,000
oA YHMI F 127,800
ogx=2 =J|IAH X 259,200




SN ASBsAD
A AYNSABAND(SAHS+M/5 - 52)
ool sel|Ns U ASOHH EER-E
2 5 4 14
A IS (B - HRAY - BAS 0l &k o e SmEET
od=Eg sIIH X 228,125
SIALHAIE A K& (=2) 1,920,000 960, 000 960, 000
= 1,600,000
< 320,000
403 XSS AHE201 & 1,920,000 960, 000 960, 000
=2 1,600,000
< 320,000
01 RXEHA2E = 1,920,000 960,000 960, 000
OsIIHLUAE A X 1,920,000
2 1,600,000
< 320,000
sIASSEX 2RI (=) 68,150 69,600 A 1,450
= 47,000
= 21,150
308 UXIEHSOIA 68,150 69,600 A 1,450
2 47,000
& 21,150
O1 X ESHBLHEEXZS 68,150 69,600 A 1,450
O=LINH SSEX 2IA 68,150
= 47,000
< 21,150
ML 2I1HS sIIH XA (=1) 360,000 240,000 120,000
= 300,000
S 60,000
403 XM S0l & 360,000 240,000 120,000
= 300,000
< 60,000
01 XX EH A2 2= 360,000 240,000 120,000
OF&X L2I[AHS sIIAH XH 360,000
= 300,000
= 60,000
CE sIIA DM H2XA(=1) 1,380,600 0 1,380,600
= 1,062,000
= 318,600
403 XSS X201 H 1,380,600 0 1,380,600
= 1,062,000
= 318,600
01 XS A2E = 1,380,600 0 1,380,600
OL®: =YIIH DIMSX M2X& 1,380,600
= 1,062,000
= 318,600
CESIA UMXNA(=2) 600,000 0 600, 000
= 500,000
& 100,000
403 XSS A201H 600,000 0 600,000
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SN ASBsAD
A AYNSABAND(SAHS+M/5 - 52)
ool sel|Ns U ASOHH EER-E
2 5 4 14
SN SAEA) - MEAY - BES 0l &k o e SmEET
= 500,000
= 100,000
01 XIEH 22 = 600,000 0 600,000
OL=:=JIH A A& 600,000
= 500,000
= 100,000
ADLE =9 Dl 2= 6,566,000 9,000,000 A 2,434,000
= 2,500,000
= 4,066,000
ARE G ADE s9€EHX =4 1,503,000 0 1,503,000
202 o4l 3,000 0 3,000
01 =LA Bl 3,000 0 3,000
OALE =g g2 =d 3,000
403 AXISHHS X201 & 1,500,000 0 1,500,000
02 SJ12S0tet A== 2 & AL I 1,500,000 0 1,500,000
Ous - -&43% =4 1,500,000
NGS5 AdUE ANEH” LM (=21) 5,000,000 9,000,000 A4,000,000
= 2,500,000
< 2,500,000
403 XM S0l & 5,000,000 9,000,000 A4,000,000
= 2,500,000
< 2,500,000
02 S 2S0CHEt A =X 2 & AL I 5,000,000 9,000,000 A 4,000,000
OXNYEs e ADET LMY 5,000,000
= 2,500,000
= 2,500,000
S&ES AMUHE AIAE &¢ 63,000 0 63,000
201 Lt Ey| 33,000 0 33,000
01 At 22l bl 33,000 0 33,000
OsatE AAUS AIA"E K& 33,000
308 XFXIEHHI SOl A 30,000 0 30,000
01 HXHHBLEXS 30,000 0 30,000
Osd=E AAMU=E ALY X 30,000
SHMAD|IBE Y (s L/ 5 - &) 23,382,092 23,816,540 A434,448
= 4,300,000
Eas 655,000
= 18,427,092
OHEA E=Zg A =E 5,422,584 4,384,540 1,038,044
= 4,300,000
= 1,122,584
S ADIEH HH| 889,834 1,252,040 A 362,206
202 04l 13,770 13,770 0

- 644 -




SN ABBSAD
A SAMMIIE EM(SHHLLM/5Y - 58)
Sl N SABIMN =HE CEEREE
2 5 4 14
K- B . a9 (31H) - HEAY Ofl &F 0 agﬁ HRE2
01 2 LW A bl 13,770 13,770 0
Os=sHMAD|IBE & 13,770
403 XX EHHI S X2 0] 876,064 1,238,270 A 362,206
01 AIXSMAE2E X 876,064 1,238,270 A 362,206
Os=sgMADIB A 700,000
OTHOrE AFZEXICH (M A= XI) ol A= 176,064
=S HHl =& 232,750 332,500 A 99,750
403 XX EHHI S X2 0] 232,750 332,500 A 99,750
01 AEXISHHMA2E X 232,750 332,500 A 99,750
gas IS 232,750
A (=21) 4,000,000 2,500,000 1,500,000
= 4,000,000
402 QI2FAHE0| ™ 4,000,000 2,500,000 1,500,000
= 4,000,000
02 QIZHXIE2 AL E X (0| & TH ) 4,000,000 2,500,000 1,500,000
O == & 4,000,000
= 4,000,000
SUH 2L (=20 300,000 300,000 0
= 300,000
403 XX EHHIE X2 0| 300,000 300,000 0
= 300,000
01 XIXISH A28 X 300,000 300,000 0
OStY HHl 224 300,000
= 300,000
M ARD| B A HI 17,959,508 19,432,000 N 1,472,492
=) 655,000
= 17,304,508
Jle | (MEAFS) 4,957,600 9,236,000 N4,278,400
403 XX SHHS K201 M 4,957,600 9,236,000 N4,278,400
01 IXISHHG=EE X 4,957,600 9,236,000 4,278,400
OZ22 K7 LIetEBIAIS (& 2H) 1,599,000
OSEDXNX P L)Y AL (X EH) 1,212,000
OEel KT LIBHEHI ALY (&) 1,212,600
OE( - Z2F - AKX P LI|EBHEYIASE (X EH) 266,000
OYU X7 DBt YIALS (M 2H) 410,000
OHM X7 ZEI|BHAEHI ALY (M &) 258,000
P ZNZel (MSAL) 7,881,908 7,610,000 271,908
403 XX SHHS K201 ™ 7,881,908 7,610,000 271,908
01 HXISHA K== 7,881,908 7,610,000 271,908
O2YXT HRHAXF2IALY(HE) 774,000
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SN ABZEYD
M SUMADIE ZH(SEHL/5Y - 5E)
S92l sPMADE B (&9 &8)
2N -3 - (3H) - NHEAMY - BES Ofl &F o gg% Hws2

OS2NT HrelZNF AN (B e) 1,232,000
OHEXNT HRHZXNHeI AL (D) 825,000
OB WRHIXHeI A () 2,251,000
OMBXR HRHFXZe A (H8) 2,476,000
CEEVWENVELE-PE-EP-T¢E) 70,000
OANZXT HRHBXHIAL (D) 124,266
OYAINT HRHBNF AL (H ) 129,642

AT NS (REA) 4,465,000 1,060,000 3,405,000

403 RXSHSRZ0IH 4,465,000 1,060,000 3,405,000

01 XbXICHH Xt 2 = 4,465,000 1,060,000 3,405,000
ORENT ARSI (HE) 1,122,000
ORI ARSI (HE) 2,580,000
O T ARSI LA (H ) 258,000
OMUST ARSI (HE) 267,000
ORI T ARSI AL (H &) 138,000
OBMTT ARSI LA (HE) 100,000

SaasxANL(2D) 655,000 1,526,000 A871,000
= 655,000

403 XtXI SHH S K201 E 655,000 1,526,000 A 871,000
= 655,000

Ol HASHI =L E 655,000 1,526,000 A 871,000
CPIESVE SIS 655,000
= 655,000

HHSAYYH (ASF 5L D) (OIEH/IIE) 38,739 35,001 3,738

o2l 38,739 35,001 3,738

Sh2g J=H 38,739 35,001 3,738

201 Y2 | 27,357 24,903 2,454

01 At 22l | 27,357 24,903 2,454
ORN2Y ARl 27,357

202 01| 7,182 6,498 684

1 2L 0TH] 7,182 6,498 684
ORANSY ZLOHI 7,182

203 R E T Y| 4,200 3,600 600

Nege ez 4,200 3,600 600
©2591 05t 350,0002 * 122 4,200
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